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Instructions: 1) Attempt all questions.
2) Each question carries 2 marks. 3) Write code A, B, C or D of correct
answer in the box provided after each question.

Q. 1} Which among the following is most urbanized country?

A) India B) Pakistan  C) Bangladesh D) Singapore
Q. 2} Which day is known as the “World population Day”?
A) 11" July B) 11" August C) 11" September D) 11" October
Q. 3} which may not be a primary function of an urban center?
A) Administration B) Transportation C) Education D) Agriculture
Q. 4} Which of the following factor doesn’t include in the scope of
human geography?
A) Agriculture  B) Settlements C) Rocks D) Population
Q. 5} Which is not a branch of human geography?

A) Agricultural Geography B) Soil Geography

C) Commercial Geography D) Tourism Geography
Q. 6} which factor highly affects the distribution of population?

A) Physiography B) Climate C) Soil D) Transportation
Q. 7} In which region the population density is higher?

A) Mountainous B) Plateaus C) Plains D) Hilly
Q. 8} Which of the branch of human geography studies the
frontiers and boundaries?

A) Historical Geography B) Political Geography

C) Economic Geography D) Social & Cultural Geography
Q. 9} Who put-forth the ‘Population Growth Theory?
A) Richthofen  B) Maltus C) Kenis D) Thunen
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Q. 10} Which nation in the World has reached at the final stage in the

demographic transition?
A) Afghanistan B) Brazil C) Germany D) Canada

Q. 11} Who put-forth the ‘Demographic Transition Theory’?

A) Wegener B) Morgan C)Notestein D) Notestein & Thompson

Q. 12} In which state the population density is very high in India?

A) West Bengal B) Bihar C) Uttar Pradesh D) Maharashtra

Q. 13} Which is the most populous continent in the World?

A) Asia  B) Africa  C) Europe D) North America
Q. 14} Significant changes in structure of population occurs due to--?
A) High Birth B) High Death C) Migration D) Natural Growth

Q. 15} In which region dry point settlements are found?
A) Desert B) Mountainous C) Marshy D) Plain

Q. 16} Which is the main cause behind migrations throughout the
World?

A) Physical B) Economic C) Political D) Social

Q. 17} Which factors are crucial in the growth and development of
urban centers?

A) Geographical B) Economical C) Social D) Political
Q. 18} Due to which type of migration, cities and towns are becoming
larger in the terms of area and population?
A) Rural -Rural B) Urban-Rural C) Urban-Urban D) Rural- Urban
Q. 19} Which state has the highest sex-ratio in India?

A) Karnataka B) Kerala C) Andhra Pradesh D) Maharashtra

Q. 20} Which is the major function of rural settlements?
A) Agriculture B) Trade C) Marketing D) Transportation

Q. 21} Who has written a book named “Influence of Geographical
Environment”?

A) Miss. Ellen Semple B) Kant C) Eratosthenes D) Humboldt

Q. 22} Who is known as the father of Human Geography?

A) Fredrik Ratzel B) Davis C) Eratosthenes D) Humboldt

Q. 23} Which Earthquake waves are very destructive?
A) Primary B) Secondary C) Surface D) Primary & Secondary
Q. 24} How much the proportion of urban population in the World
in 2019?
A) 53% B) 54% C) 55% D) 56%
Q. 25} American geographer Huntington was a supporter of ------
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A) Physical Geography B) Human geography
C) Historical Geography D) Political Geography

1} WTelleltdehT HaTTHS AR OT STTelell G2 HIUTAT?

) ARG §) Uifhedlsl ) ST er ) R

N

2} STraTfdieh SehaEAT feeT FgULeT HI0TAT fgaq NBWeT SiTar?

) 11 et d) 11 3FFe $)11 gk 3) 11 AHFR

3} SATIRY heT IV JHE B ATET?

37) R d) digcer &) fRefor 3) Al
4} HATAT $INATAT SATCHHLY HIOTT ThTaT HATAR Bl AT6!?
37) Adr d) 9@l &) Wsh ) dlhaEar

5} HITdY ST TTelleTdehl HIUTAT AT ATaT?

37) Y IENT &) FHeT ¥NT ) AN SFNT  5) TheoH 3aied
6} AFAEITIT TARUTaY IR FIOTRT aTd THTET Tceh ShIuTdr?

37) WTehfdieh T &) GaTHATST %) Hel S) dTEds
7} IUTCT YSRMALY AhTE&Adl Geldr 3186 37Ta?
3) gadg ) gSNT &) Helr  3) THsAIFT

=~ Ro]

8} HIAAY ST HIUTCAT ATUHEY HIAT TTOT TG 3IATH holl STAT?
37) UfETiaeh &) ToTehld o) 3MTTeh 5) AIATTST 37107 HEh e
9} ShTEdT are fAgId ol ATSaT?

3N T ART §F) AT $) il 3) Yelel
10} SNHIEIT AU 3 fAH TOUT STIMHAEY HIUTT IS ISl g ?

37) 3TRIMTOIEATT ) Sl &) STHT 3) helar

11} APHEAT AT BT ol ASAT?

37) QWEOR &) AT F) AlCEed  3) AlCTEcsT 0T ATeaHeT

12} HARATATS PIUTT ALY AhEEIUT TeldT HalTdes g?

3) gRgA SIS d) [9gR &) Icak ueer g) HAGRISS

13} SR HAITS AlhEEId TS hIUTd 31g?
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37) 3T §) 3Mfher %) QAT 3) 3ccl AR
14} SFHEATAT TAHET HEedqUT Seel HRATH BT AdTeT?

3) IRASTH S &) I¥d A el &h) TIAK 3) A a6

15} e Toig TATEAT ITCAT FeRMALY TGS ?

37) arBacT 9) 9ddI  F) golgd gad 8) Herelr
16} FYUT STATSRICTST BUTAT TSI AT 0T THW HROT 3777

3) i §) 3+ &) ST 3) HIATSIh

17} SARRY heTedT a1 0T [AehTaTHaEd v Teeh Heca Ul Sdld?

3) Hafes ) 3=+ %) @HAGIR  3) ToTh T

18} TYCIRTTAT FIVTAT YehRTHS AT HTTOT EX &1 thed MUY HNhEEaT AT
T AT deld Mg ?

37) AT AT &) ARRI I ATHUT F) ARRY o AR 3) ATHOT o ATTRY
19} HRATCTCT ShIUTCAT AT TeiaT JHTOT HATTeH 3Tg?

37) Fellesh ) WS ®) YUY  3) FAGRISE
20} FITHCT TG THW B HIOTA?
3 AT ) SUUR %) fauore ) digdes

a

21} “oftenfore gITaRoTr THTE” &7 I HIvlY fafger?

37) 4. ol T §) $HAYUS hlee &) FETIAT  3) galele
22} ‘ATALY SN Seleh’ FEULA HIVMH ST STd?

37) theReh TeaTol 9) 3R &) FWERIA  3) gelloe
23} IUTCAT §[ehY olgdl HaTTteh TaedHen T HT?

3) wAafA® 9) gTIA F) Y6 3) WAfAS 0T gTIHA

24} ST AR Sha&Ad JATOT fohelT 318 ?

37) 53% ) 54% F) 55% 3) 56%

25} AN $FieT T §leaes g HATT FAYH glal?
37) UTehicieh 3[aNel &) AT $FNT o) Vg M 3) JoTehiy §7aNeT




